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SECOND YEAR HIGHER SECONDARY
MODEL EXAMINATION, FEBRUARY 2023

Part — 111 Time : 2% Hours
POLITICAL SCIENCE Cool-off time : 15 Minutes

Maximum : 80 Scores

>

General Instructions to Candidates : w

al3joBMOIaB008 Sa1IM)MIBaguaBlB :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.
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From questions 1 to 12 answer for 16 scores. (16)

1. Name the leader of the Freedom Movement of India who was popularly known as

‘Frontier Gandhi’.
(a) Jawaharlal Nehru (b) Maulana Abul Kalam Azad
(¢) Khan Abdul Gaffar Khan (d) Sardar Patel (1)
2. Match the following :
(a) | Socialist Party (i) Deen Dayal Upadhyaya
(b) | Communist Party (ii)) | C. Rajagopalachari
(c) | Bharatiya Jana Sangh (iii) | A.K. Gopalan
(d) | Swatantra Party (iv) | Acharya Narendra Dev )
3.  Shimla Agreement was signed by and
(a) Lal Bahadur Shastri and General Ayub Khan
(b) Nehru and Chou En-lai
(c) Indira Gandhi and Zulfikar Ali Bhutto (2)
4.  Who is known as the ‘Architecture of first five year plan® ? )
5. Which organization led to the formation of Right to Information Act »

(N
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6. Which commission recommended 27% reservation for OBC candidates in all levels of

government ? 1)
7. Identify the American President who declared “Operation Enduring Freedom™. (n

8.  Complete the following table related to ASEAN :

w

]
%  Socio-Cultural Community 2

9. Which of the following is not a SAARC country ?

(a) India o ~ (® Nepal
(©) Indonesia (d) Bangladesh o m
10.  Write the expansion of *‘NIEQO’, (n

Il. Kyoto Protocol deals with which of the following areas ?
(a) Migration
(b) Climate Change

(¢) Human Rights (1
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13.

14.

15:

k%

Match the following :

(a) | Sheikh Abdullah (1) Mizo National Front

(b) | E.V. Ramaswami (ii) | Operation Blue Star

(¢) | Indira Gandhi (iii) | National Conference

(d) | Laldeng (iv) | Dravidar Kazhagam 4)
Answer any four questions from 13 to 17. Each carries 3 scores. 4x3=12)

What are the factors responsible for the dominance of Congress Party in the first three

General Elections ?

Explain any three consequences of emergency declared on 25" June, 1975.

India and Bangladesh have differences over several issues. Identify any three of them.

Explain Non-traditional concept of security.

Mention any two outcomes of Rio-Summit.
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15.

16.

V.
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18. Evaluate two positive and two negative consequences of the Green Revolution.

19.  What are the reasons which led to the failure of Janatha Government ?

20. The anti-arrack movement in Andhra Pradesh drew the attention of the country to some
serious issues. What were these issues ?

21. What was the main outcome of Rajiv Gandhi-Longowal Accord in July 1985 ?

22. Assess the role of ASEAN as an economic association.
Answer any four questions from 23 to 27. Each carries S scores. @4x5=20).

23. India and Pakistan have a largely hostile relationship that is rooted in historical and
political events. Identify those incidents that have shaken the relationship between the
two after partition.

24. Discuss the major issues which led to the formal split of the Congress Party in 1969.

25. Explain the three types of U.S. Hegemony. Give examples for each.

26. Explain the main issues in Indian Politics in the period after 1989,

27. What is globalisation ? Analyse the political and cultural consequences of globalisation.
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18.

19.

20.

21.

24,

23

26,

2T

18 amel 22 aiwowgs canoyEnglad  ge@BleRs 4 aggROTIM
2ONOOANON . 4 aapod allmo. (4x4=16)
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Answer any two questions from 28 to 30. Each carries 8 scores. (2x8=16)

28. ‘Partition was not only a division of geographical areas but a division of hearts also.’

Based on the above statement, explain the difficulties and consequences of partition.

29. Describe the causes of Soviet disintegration.

30. Evaluate the proposed reforms of structure and process of UNO.
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